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istributive Prg e

Property, you distribute or “pass out” a multiplication to
NCe in parentheses.
In 2(a + 3)=

Multiply 6(xé - 9) Multiply-gig +2)

5

B(x) — 6(9) =3(h) + -3(2)
Look at the examples, and then try the other problems.
Arithmetic Algebraic
Order of Operations D;wu\m property
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Order of Operations Distributive property
7(6 - 4) 64 ‘m)
7(2) 7(6) - 7(4) —2(x) + ~2(4)
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Order of Operations Distributive property
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ractice
Use the distributive property to simplify.
1.4(G+ 10 : i
G+ 10) "/\;, +4D 2.7 (4n- 6) 28n¥4 2
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Homework

Simplfy using order of operations and then solve using the distributive property.

Order of Operations Distributive property
ST
1. 3(—4-8) 3(-4-8)

Use the distributive property to simplify.

3.3(x + 4)

5. —2(y + 8)

7.8(—x +7)

9. (x + )2

11.-31-2k) —
43.10(3a—6) ——

eview

Review

Combine like terms to simplify-

Order of Operations Distributive property
2. -6 (—=5+8) —-6(-5+8)

s 102 £16: 8

4.-7(t-3)

6. —4(—y + 3)

8.11(4x + 3)

10.3(-2b-8) —
12.(-2s + 96—

14.L(-6x+ 1) ——

44.6x+3y + 6y =X ——

43.5at3 —
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